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HUMAN RESOURCE MANAGEMENT
Paper : BCM0401104
(Industrial Rélations )
Full Marks : 60
Time : 2% hours

The figures in the margin indicate
Sull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : 1x8=8

ﬁmﬁwﬁwﬁﬂw@@%mz

(i) Which of the following best describes
the structure of International Labour

Organisation ?
<o (PG TAGE dFE YR offR
e 39l BECR?

(a) Unipartite

(GFVETI)

(b) Bipartite (fasiifF<s)
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(¢) Tripartite (ﬁqﬁ%)

(d) Quadripartite (ogfifr)
(Choose the correct option)

(o7 React i Ghvean)

(@) Industrial disputes that arise when
employees believe that thejr rights have
been violated or that there has been
an unfair application o

 unia f company
policies is known as: -

RS FHIN (OSTRR it Sereqr o
e W%Wwﬁmﬁ

TR T T 8 Balics

(@) Interest dispute
Toq fam

(b) Grievance dispute
SR fKam

(¢) Recognition dispute

i is the first
1 f the following 18 |
e \(ﬁ‘}gl;ﬂse% trade union of India ?

U @Sﬁﬁ@iﬁzﬂ%ﬂmﬂﬁ@ (G 2o 2

(a) Madras Labour Union
g = RFRH
(b) Bharatiya Mazdoor Sabha

e SEmd el
(c) Hindu Mazdoor Sabha

fog o 9 |
d) Indian National Trade Union
( Congress

oie AT (GT TR FER

(Choose the correct option)

(w7 s IR Bfered)

ocess of bringinlg toget;rtlag
1 ers
tives of employ 1
reprleszzlst ailn front of a third party W1§:13
e 'Oytention of influencing the.mn 3
55 Illna mutually agreeable solutio
reac

(iv) The Ppr

kno:;;;@?ﬁa afoffEe gom =<
it e < (90T erois ¥
(d) Unfair labour Practice disputes Y g S S @ﬁ 2R
I & 29 R WI [ "k i gﬁm
(Choose the correct option) (d} Collective bargaining
(%% sy afe G ARE T
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(vi) The Unitary approach to industrial

®) ;i’;:iii;léion _ ; relations views the organization as :
U . 5 ;
(c) Adjudicat:ii% . T L
GG BRI ¢ B 3,
(d)r ET:;‘Z:{E R : (a) A battlefield of conﬂi_cting in'teres‘ts
Byl ng | segres)f R Jarsa |
(b) A platform for class struggle
(Fill in the blank) (T TR WL
Sl jﬁ 99 ) (clFs.A cohesive team with a common

(v) Which of the followin

participants in the indust sare ey ‘ goal

rial relationg

;3;;;2 : < TS TE TS T
® T o1 SRHeI2opR werg | | (d) A network of independent
m ¢ i contractors
(@) Trade unions and workers i o MR Wbl 6T
S ey ) o e J (Choose the correct option)

(we Resch! AR CTed)

(i) A LEie is a temporary work stoppage
by a group of employees to express

(b) Employers and their association
Reamieet s codtEm ey

() Government and its agencies grievances oOr enforce demands.
bIAT O 3 AETE (Fill in the blank with appropriate word)
v N\
(d) All of the aboye ot TEINE |6l v el e
SR TR e Al i) T SR ARSI P T
(Choo 0| (Gofg@ e el IR 77T #9)
oose the correct option)
(v& Rt Ak Gaed) -
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(viii) Emplo .
yee participation i
pation in management (v) Define the term ‘Grievance Handling’.

d : '
; ;tr‘:ll;easeze industrial harmony
e whether t i St > .
False) r the statement is True or e 3 A
m ERNEIE] SRlaETe S z S (vi) What are the objectivés of collective
(Cfeeh! 7wy gy ey f4) bargaining ?
2. Answer th
e following : S e S 7
questions : (an ; '
, _ : (any six)
2x6=12 '
_ Rl Rireiza =7 S ks E (vit) Wh‘at ire tbe characteristics of a trade
7 union *

: wﬁﬁmﬂamﬁ@?%ﬁ?

.
(i)  Elaborate any two causes of industrial

disputes.
ST R R =
e 5 2! IR i : (viii) What is a works committee ?
(i) Define industrial relations : : aﬁf?ﬁ% fe?
b il . (ix) What is meant by Employers’
) - What is mediation ? ) Association ? '
B . P .
R e e I e
' ny two problems f: ,
trade union in In dias . aced by (x) Differ_enUate between Award and
OIS #fiis 729w B T QT Rl 7ol ‘ Settlement.
RGNS ?Wmﬁm@ﬂﬁm@ﬂ?ﬂ@ﬁﬂﬂl
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3!
Answer the following questions : (any four)
5x4=20

()

(i)

(i)

(i)

(v)

Differentiate b
etween stri
lockouts. kes and

Descri
scribe the types of arbitration.

il' ‘lﬁﬁﬁ‘ﬂ?ﬁ'ﬁ"qmqﬁw'

Di vari '
Iscuss the various forms of workers’
participation in management

e i 391

Explain the factors affecting Industrial
Relations. '

SN

Explain the different types of trade

unions.

ﬁ%ﬂ AR aﬁas RIS ﬁﬂm SNTEAD] F41
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(vi) Write a short note on International
Labour Organisation.

W@@ﬂaﬁﬁﬂa@a@%wmﬁw

(vii) Discuss the impact of technological
changes on industrial relations.

@mmﬁﬁﬁﬂ“$ésa§ﬁ?msQﬁﬁéﬁaﬁwﬁmﬁﬁma
Sl |

(viii) Highlight the role of trade unions in
protecting workers’ rights.
<[ Sl e FA (FaS R AR
i SETHAe <+ ‘

. (any two)

4. Answer the following questions
: 10x2=20

pes of strikes.

Explain the different ty
f strikes and

Analyse the causes 0
lockouts i industrial settings.

(t)
5+5=10

ﬁﬁ%ﬁamqasﬁﬁmaﬁﬁmaawmrﬁm1inﬂﬁ%ﬁ
e e e A I R T
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(ii) Define industrial disputes. Discuss the

various methods of settlement of :: | ‘ R femera il
industrial disputes. 2+8=10 ;
STTIlE [ams el frat | i Bam R

fafen ~mfes Ra et a1

(i) What is meant by grievance in e
- industrial relations ? Identify the
primary causes that lead to grievances
among workers. Describe the grievance
redressal process followed in Indian ‘
-industries. 2+3+5=10 !

SUT e St IF B Jre a2

i T ers SfSrElsE 9 @RIR @i |
FIRPTLR oAl 1 | SIS SrlsPREs wrprel |
41 wfeil R afeme Raw a6 | |

(iv) Discuss the evolution of industrial
relations in India before and after l
independence. ‘

FIATOR 7 O Piws Sivew Sumihe 7T

(v) Elucidate the concept of collective
bargaining as a tool of industrial
democracy. Elaborate on the various

types of collective bargaining. : 000
3+7=10 . 11
BO6FN 0044
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